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î¼�m�ÜÓC�

n�î¼�þ�mR3 3�½��mÃ���IX�, Ù¥ü:P =

(x1, y1, z1), Q = (x2, y2, z2)�m�ål½Â�

d(P,Q) =
√

(x2 − x1)2 + (y2 − y1)2 + (z2 − z1)2.

�m¥:�m�é��éA¡�C�. C�T : R3 → R3 XJ�±�
m¥?¿ü:�ål, =éu?¿ü:P ÚQ, d(P,Q) = d(T (P ), T (Q)), K
¡T �R3 ¥�ÜÓC�, ½î¼C�, ½$Ä.

�O(3) = {A´3 × 3¢Ý
 | AtA = I3}´n���Ý
�N, é
A ∈ O(3)9P0 ∈ R3, eãC�

T (P ) = PA + P0, ∀ P ∈ R3

´²£P0 ���C�A�EÜ, N´y²ùaC�´ÜÓC�.

��, �T ´R3 �ÜÓC�, K�3A ∈ O(3)±9P ∈ R3 ¦�

T (X) = XA + P, ∀ X ∈ R3.

lAÛ��Ý5w, î¼C�´òî¼�m�:�eãn«C�: ²
£!^=!º¡��.

�±�y, ÜÓC�

X → XA + P, T ∈ O(3), P ∈ R3

��N�¤��+, ¡�n�ÜÓC�+½n�î¼C�+. �det A = 1

�, éA�ÜÓC�¡����fN$Ä; �det A = −1�, éA�C�¡
���fN$Ä. �*/ù, fN$ÄüØ
��C���/, ½ö`fN$
Ä´²£�^=�EÜ.
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